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OUTCOME T6 — Review

cot?8

1+cot?8

0529 b) sin?6 c) tan8 d) sec?@
2 cos%e
_@__B_ > Sine . CQSE = -L; < cos?e y sInG . : ws’-e
lteoe = S Sie  osine T T

1. Simplify the expression

2. The value of (sinx — cosx)? + sin 2x is

a) -1 b) 0 O d) 2
" A z % i
<ih x-zsmxco/gﬁit—cos X + 2s.m{u>sx

= Sin*x 4Cos?x
= 1
3. The expression ;::2: is equivalent to
cos 26 b) sin 26 c) cos?8 d) sin%@
s . sin Cos'o-sne . (oghe
: Ox Kinke
use | sine
a 2 . ;
e o - oS . o’ -cin®

l

4. If you simplify sin(m + x) + sin(mw — x)
‘ a) —2 @0 c) 2 d) not possible
 SITLOSY, + OSTSH + SITHOSX, - OSATEIn X
=0
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5. Which of the following is not an identity?

a) secd —cosf = sinftanf v

b) 1 — cos?8 = cos?ftan?@ ¥

c) cscH —cos B tanf =::zg v C0529=1—c<2>sze
ot (B 5 0%}6 Sin? sSing w --——————2
ne g »
1-c0s % : 1 -sine = 1-14 2sin’e
] S sine 2
cogo = Sin’® s
‘ L = |-Sin*e = 2Sn’B
Sin% = |-0g"® ‘ =
cose LS=pHS ) S"‘;é - <in’®
~ SiNB. sihe C0s - e
L85) sihe
i * Wep - W56 Lits + BHS
® SNBAane Sine
LU S - patS > (Dse Cote
= (DS
tand
LS RHS
6. If cos6 = —15—3 wheren <6 < 3?” determine the exact value of sin (6‘ = g)
S0 -T2): sinecoy("2) - cose sinM2)
= [=1d _ (-5
( la)(o) ( z)(1)
-5
y 3 = D+ 2
) +5i=(l‘3:al 3
Y 251 Y*> _
13 g2 L %
@3 g'-— -1
S B -3
13
Sllhe = —E

>
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7. What single trigonometric function is equivalent to sin(3y) cos (J’

2) - cosasin (3
Sin(3u)0os (4 )-cos(3u)sin () = sin (35' ':B:)
- sin(3-3)

= <in (55,?_)

8. Consider the equation sin (x + 32[-) =cscx—1

a) Verify the equation is true for x = =.

R RHS

Sin(T+ 1) cse(l) -
= Sin (1) N B
= O : 0
sjes X2 s a
LHC - RHS solvhon
b) Is the equation an identity? Explain.
LA S Brs
| sin(x+ T2) CseX —| L> Nok an 1dentity

* SINXCOS(R2) + Crex Sin(h) s _

s ;mx(o) + COSY (l) /ﬂ\lg IS an eq_uqfhm

* 04+ CcoSX

= COSY

s # ks
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tanx+secx _ sinx

9. Consider the equation

cotx 1-sinx’

a) State the non-permissible values on the domain 0° < x < 360°

sik , L _
ooy xS
cosy \-Swy
SinX
& X * 0\0'\ 2;'.0:; \ *S\V\X
X +a0

b) Prove the equation is an identity algebraically.

Lks pHs

dany. + eex SINX_
CoFX [-siny
. s, L
cosx.  COSX
=
Siny
= Sinx+!| _ siny
coS X CoCX
= (SINX+1)(siny)
XX
= (SinX+1) (ciny)
(1-sin*x)
= (Gnd) (sing)
(1-Siny)( 1K)
= SINX
|—sinx

[HS - BHS



-
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10. Simplify each of the following trigonometric expressions.

1 1

a) tan x cos?x ;) . A
= SINX 0’y "
CORX. = COC X1+ SmMYX
® Sinycogy = |
e S
.2
- ng\stx = \—ZSIH 9""
2 SinY 2 8ing
= —25in’®
oSy 2sinG
= - Sing
)cos;icn—scyzcoszx

Sin’X
|-2sinx —( lvgibfx)
Sin’x
|-Zip*x -| +3in’x
Sih’x
- Sin?x

-<iny




MPC40S

Date:

11. Angle A and angle B are in Quadrant /.

q 3 S 7
if sind = = and cosB = %, determine the value of each expression.

a) sin(4 + B) b) cos 24
5
3
)
. X
Sk = 8[s P
K@ =(5)
CosA = 45 X 125
X% (b
X =3
Ql S l+-
%) Sin(A +B)
= SNACDS R 4 C0SACing
NEATEAY M
" ('6)(15)"‘ (gk)(la)
* 15 + &
b5 s
- -\~éi |
05

3/ |y
)

g
OOSB>5113 | (otay™ (?
Shi = 12)13 25 +yY*= 109
Y*e 4t
=20
@ - U=l

b) C0S2A
= 2008°A -1

R \Eﬁ
1
a3


alaferty
Pencil
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12. Determine the exact value of each of the following:

a) sin G—Z) = Sm(%--\- %‘l;-_

. sin( % +1J)
= SiN(M4) cos(e) + Cos(M4) sin(Te)
(219 + (D)
i (7 2 Ven2
* "% "
b) cos(l—ﬂ;) = COS(‘J-I'T—: -?—r—;
55 - )
» COS(T)O03("TH) + Sin(Ms)sin(my)
(2)(2) + (2)(€)

'%«*\E . EHb

4 o ol
c) tan »{’an(‘ﬂr } ?_lef_;)
=dan (2 + )
* an( k) +an (M)
| ~4an( ) tan( M)
S.r\i x|
-0
> 34|

Date:
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13. Given that sina = —2?—5- and cosf = 4—91 and peieENNNReE, arc in Quadrant /,

find:
a) sin(a + ) b) cos(a + f8) c) sec(a + f3)
2% 1% At
Q‘ )
Sy =tes Pt § COSA= |4 (;;L st
. 1)’ (25) I8 > Y "= fh)
Cos 24'(25 %2144 = 25 hA > S 214 Y= 08l
X*:510 Y*= lboo
X=t{5e Y = 2lero
Q- X- 2 0l = 4o
a)sin(o( +B) b) Cos(x4B) Q) sec(« +8)
= SiNKCOS B + S sinB = (DSo(CDS A —sina/sing ’ &é—(;a)
T AT s 24\ 7 40 2
(2)(z) + (35)(%) 2)3)- (3% .
= 3 , e 2lp _ 280 'ﬁ%
lo2s 1025 05 (025
- 023 I L 5 = 1025
1025 1025 o


alaferty
Pencil


MPC40S Date:

14. Prove each of the foliowing identities.

) sinx _ 1-—cos

1+cos sinx

LHS RHS

NTH I-CoSY.

| 4+0pSX SNy
- sink (1-00sx)
(1+eosx)  (1-oosy)

= Sin(l-cosx)
| —Cos?)
= ihX (1-Cosx)
Sih?y

1S X
siny

LAS = RHS




MPC40S

Date:
) 202 22
LHS RHS
CsSCY SeeyL
= Sk, CosX
o w
Siny, V'Y

Sih*X 4 cog 2y
= Y
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=fanxsecx

c)

cscx—sinx

LHS RHS

( | Aanxsecy

CSCY -Sing
- I

L _<iny

—

N
[
1-Sinx
si n\L

L1

® siny
|-Sin2y

. Siny
Cos*X

siny [
o= CSX

= any secy

LIS = phS
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15. Determine the exact value for each of the following:

. 5w T 5m . 0w - Y ?—“—- ——E
a) sinT_cos——cos_sin- = Sln( o |b)
sin ( M)
Sin ()

V2

e

p3

i

g

W

b) cos 33°cos 27° — sin 33°sin 27°

tos (33°423°)
cos (60°)

-

o




= (s +C)>£/*x) (esc*x - Cot %) + ok
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csctx—cottx

16. Prove this identity

cscZxdcot?x

+ cot®x = csc?x

Date:

LHS RHS

e o 2
(SCK-COVX 4 ook $307X
csC®X + 0042y

(csc®x +0o¥* x)

= (e’ x-col2x (ot

-
=

gy

LHS = pHS




